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The triangle abe is an isosceles triangle, with |ab| = |ac| and |Lbec| = |Lcdb| =90°.
The lines ec and bd intersect at f.

i) 25 Prove

,édbc| = ‘Lecb|.

(ii) &5 Prove |ef| = |fd|.

The triangle abe is an isosceles triangle, with |ab| = |ac| and |Lbec| = |Lcdb| =90°.
The lines ec and bd intersect at f. ( "

i) 25 Prove

,édbc| = ‘Lecb|.

(ii) &5 Prove |ef| = |fd|.

Triangles - geometry Page 5



les | = el (22]=)es] = 207
(Li)~(ea! = 37 MQL_, ‘i‘d

L L d
& (.
|£d=k 2
(21 = |le&/
(cq| = letof
leb) = (4

As A



